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MENERER R APEE: 8L HANERET 27H (k) IS 14.9
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64 [ FDFE[TTI= BLUmEvEITRE [18H(A) NS 15.7
65 [l -FD2FE[TI= BLUHEBITRE [266H0N) T 4.7
TEINERERRE IEERE 8L &R 2 HEF | 14H (OK) 17.2 9.4
FEINERERRE IEER 8L -E R 2 HEF | 18H(A) NS 11.9
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70 [IIE-=pcfE[D3= BLUMAEITERE | 21HCK) 17.0 10.8
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86 | -Fn2HE |3V 7TS BB LT Zh B H] 21H (R) 628.3 11.1
87 |[E-Fn2HE |3V 7T5 BLUF2ENTSE | 25H(A) 553.5 13.6
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127 [ILE-=0cFE[F#45 ./ I =E=1] 22H (&) 19.9 4.9
128 [ILE-=cFE[#45 ./ B LT EHASTET 22H(£) 12.3 6.1
129 [ -FncfE |5 /3 E8 1L AT BT 28H (K) 47.8 4.8
130 [ -FncFE |5/ EB LT EASTET /1 22H (&) A& 9.1
131 [LE-FncfE |5/ BTN SE 25H(8) A& 9.1
132 [z - cFE[¥5 /3 ELUTHHENBETEE [ 26H(X) NS 8.3
133 [z - cFE|[¥5 /3 BLUTHHENETE’E [ 266H0CX) 34,7 9.4
13 [z =CFE|(¥5 /3 BLLUHHNETLE [ 158H(&) T 10.1
135 [l -FncFE |5/ 8L AT BT L5 15H (&) A& 6.5
136 (2= CFE[(¥5 /3 ELTHNITIEE [ 22H(2) 18.8 7.5
137 [ - = cFE|[¥5 /3 B LU EHANETEHAH [ 228 (£) ESEE 11.9
138 [z - = CFE [(#5 /3 B EHANETHAH [ 22H(£) ESEE 11.8
139 [IzE- = CFE[(¥5 /3 LU HEMNEISFIL | 18H(A) NS 7.7
140 [ - =CFE|(¥5 /3 BT HEAMEISFLL | 27HOK) 24,2 7.5
IANNEREDLD R A EL Y= LT HEATBTAE] | 2685 (X) A& 4.1
142 [l -F0cFE |5/ 3 LT HEATBTARE] | 278 (k) A& 9.8
143 (- = cFE|(¥5 /3 BB LI T 28H () & 11.3
144 (- = [(¥5 /3 S| LT FAEHBTSRAEH [ 25H (B) 129.0 8.6
145 [ - = CFE[(¥5 /3 S| LT PR BTS2 | 25H(B) 199.7 10.0
146 [ - =i [¥5 /3 L PREHBIRAEH | 25H(B) 130.5 12.9
147 [ - = CE[(¥5 /3 B FRHET=HTH | 27H (k) NS 6.2
148 [IIE - =i [F#5 /3 B8 HAN B ET 18H(B) IS 5.4
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15 [IIE-=cFE[¥5 /3 B LmHAMAESE [ 195 (X) 7.9 4.9
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168 |2 - EnCFE[F7 /D W ARIEERZBERERZEMT [ 26H (X) 332.7 8.2
169 2 - EnCFE |7/ W ARIEERZBERERZEHT [ 26H (N) 318.1 10.5
170 [ - T i [F#7 /D E=IEAIIER 28H (K) 26.0 6.3
17 [ -0 [F5 /3 BE™ 278 (k) 17.3 8.4
172 [ - =02 |45 /3 A= 25H(8) 22.7 9.2
173 [ - =245 /3 A= 215 () T 9.9
174 [ - =02 [F5 /3 A= 21H(K) 34.7 5.2
175 [ - =02 (45 /3 (&) |[ZZBAEN 25H(B) & 10.5
176 [ - =02 |45 /3 Gn) [AIEEINN 22H (&) NS 10.3
177 [ - =02 |45 /3 Gn) [A]IEFEEW 278 (k) & 8.8
178 [ - =[5 /3 (&) |&8EfEal 278 (k) 26.0 8.6
179 [ - =02 |45 /3 ) [Elm 278 (k) 32.6 13.1
180 [l - =055 /3 (Zn) [ELmzEvERT 28H () & 9.4
181 [ - =[5 /3 (Gn) [ELmzEvER]T 25H(B) NS 6.2
182 [l - =[5 /3 (Zh) [BBIUHZNERISE [ 28H(K) 8.8 8.1
183 [LEE - [F57 /3 @Zn) [BlLmt/& 25H(8) & 1.7
184 I -FcfE[557 /3 (o) [BUTEE#ERLIA [ 19HCK) 4k L 7.8
185 [l -2 (445 /3 (Zh) |BLUHEREITZHE [ 28H (K) T 8.8
186 [ - =@ [F4 /3 (Zn) [ESILTHAHET 25H(B) T 6.3
187 [l - = cfa[F4 /3 (Zn) [ESILTHAHET 27H(K) T 11.3
188 [l -=pcfa[F5 /0 (Zn) [ESILTHAHET 28H (R) 11.2 10.2
189 [l - =[5 /3 (Zn) [ERLTHRER 26H (N) T 9.6
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190 [l - [(H4 /3 (Zn) |BLUTHBEISE | 28H(K) NS 12.2
191 [l -T2 (5 /3 (Zn) |BIUTHBEISE [ 28H(K) T 11.2
192 [lUFE -T2 [(H4 /3 (Zn) |BIUTHBEISE [ 28H(K) NS 12.7
193 [l -0 (¥4 /3 (Zn) |BLLThFaHET 27H (k) 15.1 8.7
19 [IUxE-F0cHE (¥4 /3 (z0) |[BRLLHPEHBIEAER | 206 (k) A& 11.5
195 [l -2 (¥4 /0 (Z1)  |BSLUThFaHETRAER [ 21H(K) ESE 6.7
19 | -ZF0cE |57 /3 (Gn) |ELUHFAHETRER | 25H((8) 99.8 10.4
197 IR -F0cFE (7 /3 (Gn) |EUHFAETRER | 21H(K) 11.9 7.3
198 [l -=cFE[F5 /3 (Gn) [EBLmBEFIEE 28H (K) 62.0 5.8
199 [ -=cfE |55 /3 (zZn) [ERLTHIIEE 148 (K) 83.0 6.2
200 IR -Fnc3| (|7 /3 (Gn) |ELUHmHAMEBERISE | 206 (0K) 448 6.9
200 [ -=0cfE |55 /3 (@) |[HNE=FH] 27H (k) 11.1 6.3
202 [ -=0cFE |55 /3 (Gn) |[HNE=FH] 27H (k) NS 15.8
203 [IUE =02 (¥4 /0 (Zn) |Z&XWNm 18H(B) ESEE 7.7
206 [ -=0cFE[F5/3 @) [A=Em 27H (k) 36.0 4.6
2056 [ -=0cE |5 /3 @) [A=Em 28H (K) 10.4 4.3
206 [ - =EDCE[FS /X 2EGINT 20H (7k) 10.4 9.6
207 [ - EDCFE[FS /X Al EB<FH 27H (k) 98.0 7.8
208 [z - EDCE[FS /X WhEmh 8H(£) 18.4 10.9
ENERE R A EEPES EXhAm 28H () 36.3 12.6
210 [ - EnCFE[FS/ X BLUF2ENISE | 25H(A) 130.1 13.8
211 [ -FncFE([FS5 /X ELLTEREDTA | 12HCK) 12.9 10.4
212 [ -EnCFE([FS5 /X B EFEITZHE [ 195 0N 16.9 11.5
213 [ - EDCFE[F5 /X BLLhERITZHE [ 25H(8) NS 9.9
ANERER RS BB LT AT 19H (N) T 9.8
215 [ - EDCFE[F5 /X BBLLImh A~ HT 258 (8) 92.0 13.9
216 [ - =D CHE (5 /X BLHEXEETEA| 198 (CX) 26.3 17.8
217 [ -EncFE([FS5/ X ESLLTAma BT REr [ 27H (k) 21.6 9.8
218 [ - EDCFE([FS/ X BLUmEITRE [ 27H0K) 72.5 18.5
219 [ - EDCFE[F5 /X EBILUHHENEIEE [ 25H(8) NS 10.4
220 [ -EDCFE([FS/ X ELHHNET#EE [ 195H(CK) T 16.0
221 |- EDnCFE([FS5 /X BT A EIRAR | 20H (k) 38.8 9.7
222 [ -EDCFE([FS/ X BT EHATETARER [ 206 (k) NS 11.7
223 [ -EDCFE[(FS/ X ESLLUTHMEIERIL | 28H(K) 11.9 9.6
224 [IIEE-EDCFE[(FS /X a8)lm 215 (R) 296.3 10.9
225 [ -EDCFE([FS /X FHATER/\EF ] 26H (N) NS 11.5
226 [IEE-EDCFE([FS /X B8R ER P = 2] 208 (7k) 145.3 15.0
AENEREHAPES B mhZiETRE [ 206 (k) & 15.2
Y NERE R APES 8L HANERET 28H (K) IS 8.0
229 [ - =0 |7+ LT HNEESE [ 21H(K) NS 6.7
EVNERER APEYIN, B8R e O] 25H(8) IS 9.7
231 [ILE - =D [(R—XS5T 1 ¥ 2o, BERIEET 25H(8) IS 11.4
232 |z =D |=v~,50Y (@) | NBE—BH) 25H(8) IS 11.1
233 |[IUE - T [E=IAY (7n) [BLLTEEEIZSHE [ 28H (K) IS 8.7
ENERE M AERE: BB LT AHEET 278 (k) 22.8 9.5
I NERE M A ERE: BB A~ HT 12H(K) & 9.7
236 [ - =0 cFE[IEF B8R e O] 25H(B) T 1.4
ENERER R A EREE) BB LT AHEET 18H(B) & 10.9
238 [ - [TEFX (@) BB LT AHEET 28H () & 10.9
239 [ -0 [U3E SEEINT 278 (k) NS 8.5
OENERERHAAPEIS EZAM 25H(B) & 6.3
AENERERHAAPELS B ERITZHE [ 155 (2) NS 11.6
Y ENERERHAAPEIS BB LT AHEET 21H(K) 23.5 10.3
RN NERERHAAPEIS BLUTAEITRE [ 27H0K) 18.0 12.6
T NERERHAAPEIS EBLUHHEHNITEER [ 228(2) NS 9.0
A NERERHAAPEIS 1L R EHET 25H(B) & 13.6
246 [ - = [DUSE ESLLTHFR BT =H] 8 | 27H (k) & 7.0
247 [ - =2 [USE LT EHIEETER | 8H(R) 14.2 12.0
248 [ - =2 [DUSE a8a)llm 25H(B) T 9.3
249 [ - =2 [USE a8a)llm 26H (N) T 5.7
250 [ - En i ([75F (Ktk) [AIEFERR 27H(K) 248 12.4
251 [ - ([735F (Ktk) [BSLLT AT 28H () T 10.9
252 [ - =i [75F (Ktik) |[ERILTmEHFNEE] 28H (R) T 9.0
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BREHAR  EE28ELE1H (£) ~FRi28%E48308 (1) (BT : A 9LIb/Kg)
=1 — = o BR&EH . RHRRESET
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253 |IUXE - T cHE (U5 (HR) BT HMEETSE | 206 (k) 25.4 10.3
254 [l - T3 |75 (HER) [ESLmHAMBEBSE [ 218 (k) A& 7.4
255 |[IUxE - T cHE (U5 (k) [BILLmHMEETSE [ 25H(B) A& 7.0
256 [ILE - =i (U5 (KHER) |[HWNEI=FH] 22H(£) ESE 11.5
257 [IE-FcFE |75 (KtHk) (K5t 27H (k) 7.3 5.5
258 IR« D |[fEhEU B8R EB PR =) 2] 22H (&) A& 1.1
259 [ - FncHE L=V IY BEVEREER [18H(A) ESEE 10.8
260 [ -=0cHE L=V Iy LB RE | 21H(K) ESEE 13.1
261 [ANE 7H1 WhET 25H(B) 7.8 7.7
262 |BNE 177 SRR RN 8H (&) 73.9 9.6
263 [BNE 177 SRR RN 8H (&) 38.4 12.7
264 |[BNE 177 KBERE BT 27H(K) 9.3 8.4
265 |[BNE 177 BRI e 25H(B) 26.7 12.0
266 |ANFE 177 BRI [ 27TH(K) 21.9 12.2
267 |ANFE 177 R ER R | T 20H (K) 33.1 9.0
268 |ANFE 177 EESEEET ) 148 (K) 49.2 14.9
269 [ANFE I X SRR RN 8H (&) 83.4 12.2
270 |R= J)IL= LT E BT 2 HHEY | 265 () A& 8.3
211 |[Zfib LY EEE S mihi] 11H(B) A& 11.7
272 |Zofib T BB LT AT 26H (N) & 6.5
273 [Zfb 52 LIS XA HE] 26H (N) EN R 11.3
2714 [Zfib BA ELLTEREDTA | 12HCK) 163.9 5.4
275 |[Zofib BA ESLL-ERRT 2 HEF | 18H(B) 270.7 5.5
276 |Znfib BA EBLLI-E 3R] 2 HEF | 20H (k) 234 .4 5.6
2771 |Zofib BA 8L TE MR 2 HEF | 25H () 386.4 5.5
278 |[Zofib BA 8L -E MR 2 HEF | 25H () 173.0 5.0
219 [Zofib BA BB A SFET 25H(8) 169.2 5.5
280 [Zofib BA A= 25H(8) 176.8 5.9
281 [H27TEEXK X (BX) AR/ \EF ] 148 (K) T 5.0
282 [H271EEXR X (BX) IR 188 (B) ~EE 8.4
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